T@amﬁﬁmz%mﬁﬁﬁa%mw%’»
() womwERE IR Efegwm ¥ neg mn ECl
(1620 f.4ft.)

(2) Fﬁmaﬁtga'&%:rma‘agﬂa‘r(sm%ﬁ)
@) @ A oEmaEm T (R - T
JUIHIEA 9 YT 78 — 205 FrA)

(4) =HTHHRET— ﬁﬂm@a%mqmw

Wmﬁ%ﬁﬁemﬂ(mm%ﬁ)

(5) W & T =E

2 %&ﬁé@rﬂ@a%m(ﬁ@i)ﬁgﬁaﬂ%‘@; _'

mﬁmﬁwﬁmmﬁéwwwm%?

- (D Ughw
(2) fafvaw
(3). ufEta=

(4) egaz_ﬁw |
(6) I T <1 =T

5. awm dgem Y §, af i g e An @ R
w R T Ay a7 oi B v B,
) Hge 1 o e REm e

@ =m0 4.

@) omfEffa @m0

@) affEE @m
@ maﬁémmgﬁ

4 WWWWWﬁmmaq‘wlsﬁﬁm -

- Pt wonfie i e o 2

0 sl it e

" e e

'_(3) Wﬁﬁiﬁxﬁﬁm
Wﬁﬁﬁum

g
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. Frafafaa semmdt & & g somnt # W@ gar| L

@)
(©@

(5)

®)

Which of the following waterways has been
declared by the Government as the Natlonal

" Waterways N.W. No. 2?7
The Ganga river between Alfahabad and

(1)
Haldia (1620 km)
(2) The Brahmaputra river- between Sadiya
' and ﬁﬁuﬁn iBQI km)
(3). The West-Coast canal ;, Kerala. -
(Kottapuram — Kollam, UdYOgamandal and
: Champakkara Canals — 205 km)
(4) Specified Stretches of Godavari ~and
. Krishna rivers along with
. Kakinada — Puducherry Stretch of Canals
(1078 km)
(5) Not attempted

Selling off a part of the equity of a Pubhc Sector
‘Enterprise (PSE) to the publicis called |

(1)
@
(3)
(4)
(8)
In a Market Equilibriuﬁ; figure, if the Demand
eurve shifts leftward and the Supply curve shifts
rightward simultaneously, what is the impact on

Equlhbnum price 7~ ,

- Nationalization
Delimitatibn

: ICemmunisation

Not attempted -

Decreases
Increaees
'Remains constant
Remains undecided

(3)
)
Not attempted

| v

- India’s first nationalist art school was established
- in which Umverstty in 1919 7

(1) Ahgarh Muslim Unwer51ty

'(2) + Visva-Bharati Umvers:ty
~ (3) Banaras Hmdu Umver51ty

A]Iahabad University
Not attempted

4) .

M
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5.

r ﬁﬁzﬁqﬁgﬁfaﬁ?

W “ﬁﬁg@ﬁﬂwmﬁﬁm

)H’?ﬁ‘ﬂ‘m%’iﬁﬁﬁwﬁﬁw

& | el

=0 wﬂﬁw%ﬁmm%mﬁéqﬁq—g‘f

FHPT |

fafenr wearhl var & Few anaﬁa;g:nﬁzﬁa
& 4] |
ﬂ%ﬁqﬂa@%aﬁﬁwwwm

L) %F4d (b).

@) (2) 3 (b)
3) (a), (b) 3 (¢)
@ (23R
(5) AL G A =TE -

ﬁﬂ%ﬁaﬂﬁﬁaﬁq@%mwawmwﬁ%

. IR & ?

(a) WA o

(b) U TSY ARG

(¢) rRferan

(@ ,

I Ry o g @ v e =1 = a"lﬁn
(1 (a3 bd)

(2 (b)3M (c)

(3) (a)3M (c)

(4) (b) 3R (d) i,

(5) e A&l &7 AEd

' s S § aoe w S dey 3 P § | T

¥ PH-AVA ST TE 28 ?
(a) Fz 9 I SR i & fed oft

T 1 GG hA 1 A 2

(b) e e e e e @ 3 @

forarT T WA R |

(© FRum geige fies # Tid P 9 % 91

Tt 1 SRR IR B 8 |
ﬁfam@anﬁﬁwwmm
1 (@3
(2) wad (b)

(3) &ad () ‘

(4)  (a) 3R (b)

(5) IR 7Y A =R

Whic}_l among t}}e following was/were feature(s) of
‘Subsidiary Alliance’, a system devised by the

. British in colonial India ?

(a) It was devised by Lord Wellesley.

(b) A British army contingent was to be
- stationed in the territory of the ally.

(c) The ally could never get into agreements
with any other rulers,

(d) The British were to protect the ally only
from the internal threats to power.

Choose the correct option from the codes given

- below :

(1) Only (b)
(2) (a)and (D)

@) (a),(b) and (©)

(4) . (a) and (d)

" (5) Not attempted

Which among the following countnes would be an

~ example of ‘coming together’ federation ?

(a) India

(b) USA.

(¢) Australia

(d) Spain

Choose the correct option from the codes given

" below :

(1) (a) and (b)
(2)  (b) and (c)
(3) (a)and (c)
(4) (b)and (d)

~(5) . Not attempted

~Which among the following staternents is/are

correct with regard to the amendment of the
Indian Constitution ?

(a) Parliament has the power to amend any
part of the Constitution except for Part IIL. -

(b) A Constitutional Amendment Bill can only
be introduced in the Lok Sabha.

(¢) The Constitutional Amendment Bill once
passed needs the assent of the President.

Choose the correct optmn from the codes given

_below :

(1) (a)and(c)
(2) Only (b)

~(3) Only (c)

(4) (a) and (b)

(5) Not attempted
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¥

8. In Olympics, India has won the maxi
imum

8 i @ 3l 1900 ¥ 2020 T 8 i
| et 3 eifies ot AE? | . number of Gold Medals under which cat
! : e B : since 1900-to 2020 ? egory
| £ TSI ' (1) Shooting
| sl .
| (2) A (2) Hockey

(3) gaharsll (3) Boxing.

) Yt e - (4) Wrestling
(5) TR @I AT =Ted '- (5) Not attempted -

Rt 2022 R ﬁaﬂl P AR 1 -
17 2022 wft g . 9. What was the slogan of the ‘Patient Safety Day’

9.
. we® - LY ? - _ which was observed on 17 September 2022 7
!'; | (1), e, | = 0t (1) “Health Without Medication”
i (2) “Gar <t e A g N @ “Meditation Replaces Medication”
Bl C®. “a, g 25 5 (3) “Medication Without Harm”
: L @) “ewe A a‘m - v : (4) “Health With Yoga”
I 3?!'{??3‘?%:”%173% ; (5) Not attempted 'I

-10. ﬁﬂﬁiﬁﬂﬁ b '%H ‘ET@EF Gal Sﬁﬁﬂ ﬁﬁl?'ﬁ '35 fﬁ? 10. Whici’i of the following plastics is used for making

' ‘Eﬁﬁ% fer e e @ 2 electrical switches ?
) e ‘ (1) 'Polytiiene ..
) @ . (2 PVC
@ ¥ (3) Bakelite
@ YR (4) Teflon
(5) - mqﬁha@ (5) 'Not attempted

1L 38 dy o b ‘
Rw@ LR W% foraa ‘ﬁa H‘A‘Eﬁﬁ '&‘ﬁ €|11. What is the name of the plant group whose

3?[-( 4
T, wawEn Mﬂﬂﬂqﬁrﬁ g2 _plants bear naked seeds and are usually
perenpiaj, evergreen and woody ? '

sy ﬁ;:h-;qﬁ L
B . i @ "Gym_ngsperms.
®) ey R | _ . | (2) + Angiosperms
.(4} Ty _ PRI i = gyt G Pteridophyté
) m?ﬁhq@ | (4) | Bryophyta

RAMA/A1/ ' Ak '
Page 4 : : (5) Not attempted
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13. W,ﬁ““m“@ﬁ@m'mﬁ?-

14.

15.

RAMA/A1/Page 5

(5)

(D)

@
; (5)

: mﬁﬁﬁqgﬁ%ﬁm%%mﬁm

ﬁqﬁfﬁﬁﬁﬂmmﬂiﬂﬁéo
frarase > fierane > A - ﬁTﬂWBE
fmraTEe > fhdEEe > m ﬁmmm
e > fieranse > e > e
ﬁam>m>ﬁmm m
sﬁt#ﬁmm——%

1
(2
3
(4)
(5)

a4 5

BrITTeT
W'Té’fémmﬁ

@
@
(3)
@

ﬁmﬁﬁgﬂﬁ@rﬂ?mm:@mf@ﬁa@%ﬂm

FEARFEE Q7

(1) ﬂ%ﬁaﬁw@%%ﬁﬁmﬁaﬁtm
Ay g i A oA PR R 1

(arfefta) wgw s 9a R | -

g ek TR A g o T e d |

7§ T T T R frah g0 Yeah % e
ﬂgaﬁmaﬁ%ﬁmmm% |

Fe T & =

(3)

%éﬁmmﬂnﬁmm%m@ﬁﬁm:

12.

148.~

T

15.

(D)

(5)

@)

6)

* Which of‘ the followmg is the correct sequence ?

(1) K110byte > Petabyte > Yottabyte >Megabyte
(2) Megabyte > Kilobyte > Terabyte > Gigabyte

(3) Exabyte > Petabyte > Terabyte > Gigabyte

(4) Petabyte > Zettabyte > Gigabyte > Terabyte

" (5) Not attempted

Gc;og.le, ‘]'31n'g and Yahoo are examplesof ___
*Search Engines '

(2 Mobﬂé Appiicafioné -
(3)

@

Software
Firewalls
Not attempted

Which one of the following statements is correct

about Uniform Resource Identifier (URD) ?

It is a set of rules which is used to retrieve

(1)

‘linked web pages across the web.

(2 It is a unique address or path for each

resource located on the web.
It is a unique value associated with a
network adapter.”

It is a unique address that can be used to
uniquely identify each node in a network.

@

Not attempted

- Which of the following is used to ensure accuracy

periCo (Zﬁﬁﬁ) asn ﬁm:ﬁa 27 - ,'and.reliabilit'y of data in the database ?
(1) SerE S - () Database Schema, =
@ weRmERE. -G ."Df‘ltaBaSe-_'fGo'#gtmint
®) gmﬁ',asmﬁ . - (3) Data Di_ctionarjv _—
(-_4)I mﬁ’g TR | 4) Data}laase.'l.nsténc;g :
- (5) IW Tﬁé-‘ﬂ arEd (5) Not attempted I

T & %5 f%m T /| SPACE FOR ROUGH WORK




16. @ %R BLUNT = ' -
HT I ¢ ’ ¢
IBUTD <} % 16. ‘BLUNT’ is related to 1BuTn’ in the same way
g

“*’m
a‘ fore werr7 / sSPACE FOR ROUGH WORK

N

‘SHARP’ frag
T HeY grm ? ‘SHARP' is related to_ ? .
(&) Hapatt - (1) HspaR SR 21. frefe
(2)_ PraHs . (2) PraHs
(3) hSaPr (3) hSaPr : »
(4) AhSpR ~ (4) AhSpR (2 -
' - (®) IO TR g1 wTEd ~ (5) Notattempted ES;
17, @ F#RX ‘ANGLES’ I &4 ‘GNASEL' ¥ &, st |17.  ‘ANGLES' is related to ‘GNASEL’ in the san: @ -
YR ‘SQUARE’ T HeY fohe® &I 2 way as ‘SQUARE is related to_? - -
(1) UQSERA ' (1) UQSERA
" (9) UQSARE (2 UQSARE g
~ (3 USQERA TR AR (3) " USQERA oo 92. T F
B mqﬁﬁmamﬁ - | (5) Not attemptefi ;ﬁ:r:-
15, foefefian # e 7z 7 A 18. Find the odd one out o
L) wEd - 521) ﬁ“di'f‘?‘;‘;{‘;w
s o - ta :
(2) ugel - F - 3;_ Fle I;W‘e; -
3)  3elt - &1 % @) FrRCC
S . (4) Brick—Wall -~ ey :
@ f-dER - (5) Not attempted
(5) I T &1 ; T '
i o a:lT?lFa Uy T e A1 ‘Select the combination of numbers so that th
9. W He e F1 T Eﬁﬁm forren HFER serd #1| ~ letters arranged accordingly ~ will form ¢
mﬂmm@@mwmmﬁ N meanmgfu]word_ : ; 1
GNAEHR ' G.N AE‘HR _HC’ Py o &
(1312345 e 123 455 6 l"“‘“f\i {);
: i) ‘
.(2)5531246 20137 531246__ 5 i—@e“/ ®)
el @ 532146 e g
@ 3'35=1,2,6,4 3) 531,264 4 .t’/ (5) I
o) m%;?l v (4) 3,56241
2. ?i‘k e ~(5) , Not attempted s, iR
gy QRSOPMNJHI#_1234520 XYZABCQRSOPM JHI#3+1234 -t 7
n ?mm W g ?ﬂ'ﬁ 3% PrefaReg # @ - Which of the following is third to the right of ti o
o) ? e o -, element wh:ch is exactly in the middle of t
3) I: o given sequence (1) 17
@ y n M @) 17
®) 3 . @ N (3) 1a
, .(3) J 4) 20
- B 6 w
(56) Not attempted I g
, —  RAMA/A1/Pac
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21.

22.
el & firg B ge ot FoFl =t v T g us fofa if they seem to be at variance from the commonly
i afdhes w9 ﬁ aﬁq-‘a"[fi# ﬁaﬁﬁ feu mu syt _known . facts. Decide which of the given
ﬁﬁmﬂ%‘ | : conclusions | logically follow from the given
R ‘ 9 FR @E{ % | Stdte’ment\s : Some plates are spoons. %
_ wf) e E!»Z‘ﬁ 8 ' Some bowls are plates.
W_ M : e i 1 . All spoons are bowls. _
'I 5 an . ) ﬁ E‘cfftatq%r 3 I Conclusions : (I) Some plates are bowls.
(T % S @E g (II) Some bowls are spoons.
(III) . Some spoons are plates.
(1) e I 3 11 frhed 8
(2) waa II Sﬂ'{ ITT ﬁwﬁ% (1) OnlyI and II follow
(3) . Fae 1 iR 11 Freara 8 (2) Only II and III follow
4) I a1t 111 ﬁaﬁ—a % (3) OnlyI and III follow
AT . (4)  AllL I and III follow
: ' - “5) . Not attempted
2_3' AT | i firz () % wm T[23.  Which number will come in place of the question
. '«ﬁq 1 wen e ? A - mark (?) in the following numerical series ?
217, 216, 729, _?_, 3375 2:7:1 21'@,6’ 7%9’ _2_,3375
(1 1729 1) 1729 o
"(2) 1728 @ 1728 ML "
y e
(3) 1500 (3) 1500 \-
(4) 20736 (4) 20736
(5) Iaw =&l & =TEd (6)  Not attempted
% @1 o foT0 TUT™ | SPACE FOR ROUGH WORK

'RAMA/A1/Page 7

ﬁﬂﬁ{ﬁgﬁ' EREER ATk i
5, 15, 20, 24, 25

o))

(2)

(3)

4)

(5) -

15
20

24

25 |

&1 Fo F 9 a7 fFeed fw e # | g w@

22.

@ﬁnd the odd term out.

6,15,20 24,25
1 15 1-_' N /\ A \l
2 20 ° \0 1 Ll\
A3
- 24 2 My
3 : 5\1‘?{\' ; S" <
4 25 y .U
(5) Not attempted
Three statements are followed by three

conclusions. Take the statements to be true even




| m—

urant,
You are the owner of a resta One af

& | 24. minor accig
24, I TH W & i § | SO qﬁ fecfie =7} elivery. boys met :ﬂ;‘};o; on time. He r?: 5. o % I
) T IS g Seears # AT gsfzﬂ'l o Fushig 50 fn?}l;v;r tffhe following a(‘.tlonse \ Tirare faaft
" for 5 days. Which o Yo,
ﬁm@m%|3§5ﬁq%a¢maﬁaﬁmﬂ1 for ¢ _ MNP
a9 Fefafad § ¥ W war 0 2 take i Ui dwTIe
W smeed 43 e 3 1 (1) You will terminate him from t e serviy,  wrfafe
. : l : 2 end him for.5 days & Q’ ?
@) 95 5Ra % R B ] (2)  You will susp IqEed
k him to go on leave wit
3 mz@:sﬁq%mﬁmaﬂgﬁﬂﬁ'ﬁa‘ (3  Youwill ask him to g : "o @) 700
(ST for 5 days.
4) 39 3V 5 7 5 g sgEE 3 I IS (4) You will give him pald leave for 5 d&:-'n y (@ 210
- Tofeem s o ywe —,ﬁ(ﬁ I ' ~ willalso pay for medical expenses (3) 900
®) W T&‘T ¥ e (5) Not attempted
: | (4) 300
25. A ‘B’ D, B st =Fv;§3wﬁﬁ§ | CD’ ﬂa*gi 2. ‘A, B,C, D, E and F are six persons, © B e
? A TR B R | B ek D T (Y HE | older than ‘D’. ‘A’ is the youngest. ‘B’ and T, _
BRI CPA B 21 ‘B’%EI@ FHE? of equal age. ‘B’ is older than ‘E’. ‘C’ is you
o than ‘F’. Who are older than ‘B’ ?
| E; gﬁz '-(1) Cand D ' 29. A E
: - : m 1 ‘old a
8) FaRE. (2) CandE
(4) FG'FI'{C (3) FandE . PJ Eﬁ:{‘éﬁ@
; 51 D
L (5) mﬂ'@iimmzﬁ @ edp 2 (1) da
- (5) Not attempted
26. ﬁ%mmﬁw%mmaﬁﬂﬁ : (&), pa
_F@T <2 11e B 26, ' Whlch number w1]l replace X in the gm @)/ ta
0 7,26,X,124, 215 . numencal series ? .
M 60 . 07.26,X 124,215 5 pa
@) ' 65 (1 60 s T e R B (3) I
@) .62 '@ 65 &V BBV :
By 1y - _ : SR TR .
@ 63 -3 62 : . _
(5) I T 3 = | GO 30. T g =
e - N o | P ). Not atbemptad 2
g 4 :
_2'_7-\:*%@‘1‘1%%%&’1@11%' ] R .
mﬁw?ﬁ] & L v Find out the e L H
T hifm | o . - Find out the worq Whl(‘.h can be formed by usit
SUPERVISION the letters of the given word. @ T
(' RESIGN - SUPERVISION . . '
(2) POISON - (1) RESIGN @
(3 REVISIT (2 POISON e
(4) NERVOUS | (3) REVISIT
(5) W?ﬁf%ﬂ'{a‘@ ' "t B L. ) jNERVOUS; (5) =
, 7 [TAB), ‘Not atter;
RAMA/A1/Page 8 \ Not attempteq _—
1w :
: : wrd %a ﬁ‘m ¥4T | SPACE FOR ROUGH WORK R R



. _a;aaam'quooaawmmﬁz

e fakd B8 ST A 1 9 Fww 70w

e faid FFH A TG 7= A 3 <o |

it B &6 | O % foe ww fee wiece

A ?
(1 700 "
@ 20
(3)- 900
" (4) 300 .
- (5) mqﬁ%ﬂﬂﬁa |

9. qﬁ{?ﬁsﬁ@mﬁﬂﬁ over aud above’ #i ‘da pa ta’
3t ‘old and beautiful’ %I ‘sa na pa’ feran 9 2,
?hﬂﬁ?fzwal and’aﬁ%am%@m? :

.. (_1)- da

* (2) pa
@/ ta

| (4.) .na _
(5) mﬂiﬁhmﬁ

30. ﬁa%mwmsﬁwaﬂ%ﬂiﬁﬂmw

21

(1) HOPE : EHPO

2 TUNE:ETNU
(3) MORE : ERMO
(49 PLAY:YPAL

®) I 2 e

29,

30.

~(5B)

(@)

(D

On- Ajay’s birthday,

distributed equally among 100 chtldrcn He could

chocolutes were to be

dlstrxbuto to 70 chlldrt.n only 80 t,hat, each child

“got 8 chocolates extra, How many total
chocolates were available for distribution 7
S @) 700 e
. -
uf\A...-/
2 210 . | =
- (3) 900 T v,
=4 ¢ 5
A P
(4) 300 \9‘?‘”‘% L g
; ; g ™ 4
<t M
Not attempted '

In a certain code language ‘over and above’ is

\{rritten as ‘da 'pa.ta’ and fold; and beautiful’ is

written as ‘sa na pa’. How is ‘and’ written in that

codella'nguage?_ - _ Qe
@ G- oA” "
pa

(3) - ta.

@

na

(5) Not af{:empted

| Find the odd one out which is coded differently.

HOPE : EHPO
@) TUNE:ETNU
(3 MORE:ERMO
(4) PLAY:YPAL o
(6) Not attempted ’<\/ _

S
RAMA/AY/Page 9
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The closest approximation of the By

31.
31. ﬁﬁgﬁ‘r:ﬂ;ﬁ e p_roduct _ 3 N
© 0-3333 x 0-25 x 0-499 % 0125 x 24 © 03333 % 0:25 x 0499 x 012824 '35 ajﬂ
1 e A R - - , 18 | s
. & A Q}*f w ) “ 5 & &%)
} - o ’%*{.y 8 O'N{ v/f\p} ¢
. L WX - .3 g% + S @
| 5 8 ARy @ 3 ° o Wy
| @ T A\ : z hp' \ @
| 4 - HINHP 2. -t xﬁb ﬁl. )
| . ‘ v - 3 rz,a (4)
‘ ® 2 T @ .3 e \
| _ 5 ; 78 VW 5
‘ a
. 2 2
\ T % 4 =
g e ; 6 g6. A *¥
(5) - E e e e (5) - Not attempted qsﬁ’.j
32, AR xTH 3-aiﬁw@m%aﬂw,x%ﬁ;ﬁw"ﬂ 32. If x is a S-digit number and ¥ B 2w, 4
o & T W A o wen B, A gem k-9 obtained by permuting the digits of x i, e
, - aéa‘ﬁ R - ST e e b manner, then (x —y) is always divisible by: W’
| IS g : ' ]":ﬁ:“'r W oo
| @ 6% @ 9% -_/c':l__ﬂ i 3
1 @) 9F A i
e (4) 12 - @)
) 12 : (5) Not attempted (G)
(5) I T & e .
e e - 33. The sum of two numbers is 45 and &

33. 9 Howad F1 A 45 } T ITH I AT H Jifferonce is one-ninth of the sum. Theaiz 37 il
| gal wm # | wemed W LOMR: ‘LCMis: M-*f?:)‘-‘—'-'“"( ( &
s (1) 100 : > (1) 100 = £ (e "‘m

@ 150 @ 150 WA R .
(3) 200 (3) 200 T o . /o (1
(4) 250 @ 250 ~ =2 (2
= (5) IR AL AR ot (5) Not attempted ; (3
34. o ffim m'mt S Rict i ﬁmaﬁgaﬁ | 34 The traffic lights at three different signal p ¢
ot &, . 45 A, 75 e T 90 WS H AW S o after every 45 seconds, 75 secon®s* ¢
e @ § | 9R T A ST O 1B q% ot 99 s:econ'ds respectivel‘y. If all’ ch
s 3, 7 o A T e T T o b simultaneously £-lt 7.: 20 : 15 hours, then thei® gg
o ‘ 4 ﬂaﬁ-i'“ _ next change again simultaneously at :
1) _7:28:00‘513 ; : RN 98: 00 h . 0 .
Q) 7:27:45%% Noo ria Ugyﬂiﬁ,
' (2)  7:27:45hours R, 3 P /
@) 17:27:30%2 G el ol
' (8) 7:27:30hours ; ’
MR L (4) 7:27:50 hours R '
s 205 ours \ ’
5) I L
s (b ST i?tam% (5) Not attempted { + o L
AMA/A1/Page 10 =
| mMN | g8 783 ; T‘Eﬁ%%ﬂm;smcs FOR ROUGH WORK S{:kf X — RAM
| I B 3l <6
it b e \(
; L _\( 24 AR
/\\ h}' . A .. "\\\. %\‘}JJ-\:‘;’ ) /\( f;"
. 47 “]?/{ 5 ) ‘qupu\ \«‘;:"
) VN T e
6-‘) n&". k%' A Lk >

S ———



35.

36.

37.

38,

RAMAIA1IPage 11

£ o1, B H I H 10% 31 2 o 3 6y

afz A 35. If the income of A is 10% more than that ofB and
s, C 1 9@ 8 20% F R, A sy, A;Bwnc|  the income of B is 20% less than that of C, then
£ o # I B the incomes of A, B and C, rcspectlvely, are in
. 0:8 the ratio : oA
@ 1a19 (1) 11:10:8 C-ﬂf\tv“w
.90 :25 2 ’
(@) 22:20:29 (2) 22:20:25 \V, W‘ﬂ)\%\
3 10:9:7 | (3) 10:9:7 . & \
(4) 22:18:25 (4) 22:18%25 : o7 ¥
(5) W“ﬁ-%m e - (5) . Not attempted %
: _ ' \%«
. n'd
ft X & W W H:'{"Q' 2 | ' 3‘&1 Dty i) ‘41%[ 36. Mr. X has some money with him. He has to
1 1 f o . 3
f‘ 1 i ST Eﬁ‘d:n EHET-IT distribute this money among five labourers in the
ﬁ 2 3 4 8 : ratm g “ L }— l What is the minimum
%|w%qm$qﬁwﬁﬂﬁmﬁ=ﬂmﬁgq | 2.8 435, T
‘ ﬁm@[ el A Eﬁl of e ‘6':!11 e 3”[ gt T amount he should have, so that each labourer
B L gets an exact number of rupees ? . gaer 165 12
© (1) % 358 o XEtsl
n (1) %358 SN !
@) T 420 _ _ _,420- () (S
3) T512 . . P
. =5 L. (4) %599
(5) IW :'ﬁ é=n HEE' . (5) Not atterﬁpte'd ;
EERCEI e E@TQ % | ?ﬁzﬁ Waﬁ * 3:?“:'3 |37, There are thf.ee positive numbers. One-third of
w-fiew, H’ﬂ'@! El'sp[ T Y 8 HA ¢ | 999 BRI TE the average of -all the three numbers is 8 less
A @l g Eﬁﬁ e w1 3ﬁ'a?r 8 21 Eﬁ'@t agﬁ than the greatest number. The average of the
R’@ﬂ'ﬂ‘l% 9 - .smallest and the second smallest number is 8.
_ What is the g'reatest number ? -
D 9
. . R aey Dy
@ 10 % & w2
(2 10 - o b
! _ foa X0
| @ 1 i ;3) T e %Q RN '3K s
15 8 U REVRN _ 4 14 AN ';:v\.,rﬁ
(5) Wﬂﬁhﬂﬁﬂ i AB) th attempted ‘\&%B\ v
S | | | 2D
(4‘133““3216 i Jm—g +g/—) ERET ‘é " |ss. (J1331 '2‘/216 Y7+ Yok )isequalto:  ~~
M. 1369, " - | @ 1362 L ax A
(2) 79 @ 79 i b .
. ; X
@) 1489 (3) 1482 (3\}@\
® wx o : (6) Not attempted
— 2 S| a8
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: 41;

T

39. T wiz = {,, 18,700 # ¥=¥ W, 'SF% mﬁ,ﬁg | 39 When a plot is sold for ¥ 18,700, the Owng,
15% F wh At 2 | 15% Fﬂ‘ﬂ ¥ foru 7E Atz ® 15%. At what prlce must the plot be solq j,
A ﬂ 339 | | ; to gain 156% ? \%(U?

1
(1) % 21,000 "1‘/;& ((2; € 21,000 . 3‘9 o
; T 22 :
(2) 722,500 o f {?’ ' 500 \'ft )
! | o YA (8) ¥ 25,300 i ‘
(3) 7 25300 \¢/ o . D ™
g T 25,
(4 = 25800 \ésf‘ S o e >
_ _ 5
5) I ?ﬁ-ﬁ o (5) ot attempted
| . . "y B . 40. If an article is sold at 20 percent profi ,
40. "’Jﬁ T 95 20% AT 9 o= g, e & § HH-E Whlch of the following is the ratio of its cost ,
w@ﬁwaﬂ‘{ﬁﬁﬂqﬁﬁmﬁ%? ; tmtssel]mgpnce‘?
(1) 5:11 ‘,o Qf"’rb @ 5:11 | 5 - .
_ A ’\'-r "/0 , A
@ 5:6 8o (2 5:6 <
(3) 6:;5 | : \‘8' ! - 8) 6:5 - 1 (jf,
- (4) - 115, )(Qy : (4) 11:5 - -
(6) SWA AR ~ (5) . Not attempted
'A-.ﬁ ? ;3,’_8,000 SR 3111:5‘1 féh'ﬂ'l s Iﬂ?s% MAlstartéd'_a,buS.i'tTessd HIZIejtmg: 38,000: 9
a7 55,000 H ‘-'I\Trﬁ S # B 3 M3 i 5 months, B joine with a capita
. g o ; T 55,000. At the end of the year, the total p
vay fom | o & ofd # T 22,000 1 FA AT FI - ; - o
- was T 22,000. Which out of the following is
-ﬁnﬁﬁﬁﬂﬁwﬁTAaﬂtB%w%Ww v . . :
% 5 approximate difference between the share
SEIER it P‘ S ’{)/( Ll proﬁtsofA and B ? IS . b}
(® ¥ 1,007 : )3 iy e 1007 geeo 5T
2) 1,19 AN pac - > L
@ 1, 2 ;\9 AN ¢ | @' 1,192 NE T
(8) 1,857 . B B S A (@857 \ gwor
: \-\.{{ : oo"f\'\ﬁ/ PE -G\rb.i-._‘ ;
® e )7 B e &
5) 3?|1’ : : Ntigh 3.
_. . ! (5)  Not attempted s 2t
S\ B ey S 2=
42. 14 Iﬁ = qom 3.5 . ﬁ@ 96 & 319 Aad %1|42. The cost of a solid cylinder of radius 14 m
Ti?q, Gﬁ'% |y Th UTg H\Fq F 50 gﬁ g . ._ height 3-5 m, when, the cost of its metal is L
L S per cubic meter, is :
(D 21,00,908 (1) ¥ 1,00,208 \\\%ryf
@ = 107,800 (2) ¥ 1,07,800 ,ﬂ, @*
(3)  ¥1,08,000 (8) ¥ 1,08,000 /x q/V
‘ _ ATt .
(4)- % 1,09,800 (4) ¥ 1,09,800 wf
(6). I el 4 =y (5) Not attempted ' A
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a7

43

. 126 s PR T T 135 5% e <t
o g T A TR T 110 %
g 3 e T | 3 T 1 v 2 153 oy
i 2, 1 TR SR B SR 5f R e

2:

m « 16950

(@ 17000 - L <

@) T17550° 2E /\6 .
@ 18000 . \ / |
5) Wﬁi’“im (\7?//\/ |

o B i W ER B e IR ogEE s h
s &1 TR 8 : 5 2 | AR e I stk g

qTEn ?

)
@

- (4)

urt

saf - R J/II 5

- R N b s
g
80fer .
1047 )

(3)

q%wﬁﬁ._gﬁawﬁ%:

43.

44.

fore <o T, 1 98 39 B R e R A o |

45.

.(5}

Tea worth ¥ 126 per kg and 7 135 per kg are
mixed with a third variety of tea in the ratio
1:1: 2. If the mixture is worth ¥ 153 per kg, the
prico of the third variety per kg is :

(1) 7 169-50 P

@) T 170-00 (-t o

@) T 17550 x\\;i",’r _ !

(4) ¥ 18000 WLl i t’;:‘:;’

(5) | Not attempted g
V1S T

A man and a boy together can do a certain
amount of digging in 40 days. Their speeds in
diéging are in the ratio 8 : 5. How many days will
the boy take to complete the work if engaged

alone 7 . -
(1) '52days \ H)C\B;u\,g
@ 68_déys '\Qc{._ Y~
(3) 80 days «
(4) 104 days |
Not .atte'mpted

A sum of money at simple interest doubles in

45. TF YR gywe sas 7 years. It will become four times in :
- R i e R @ et 2 (1) 18 years 2
» ' o B L chqe AN LR
w15 @ 21jyears. (o g
(2 | o | : e
L (3) 38years a- A X r
_ (4) 42 years ¥
4) '
/ 42?“5 T (5) Not attempted !
(5) W T ¥ = Ted | ol .
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Read the foﬂowmg passage careﬁzlly and gnswer
questions 46, 47and48 :

India is one of the oldest c1v111zatrons of the world
which offers a kaleidoscope of cultural experiences. The
country has a rich heritage and numerous attractions.
It stretches from the snow-capped Himalayan peaks to
the tropical rain- forests of the south covenng
32,872,263 square kilometers. It is the world’s seventh
largest country, distinguished from the rest of Asia by
‘ mountains and. the sea which gives the country a
distinct geographical identity. India showcases a
variety of hentage resources crafted hundreds of years
ago from huge heritage sites' to prlstme sea-beaches.
Tourism  contributes to substantial economic, soclal
cultural, educational and political development that
_ generates both drrect and mdlrect employment

Tourism as an industry also contrlbutes to our
country’s ]

(1
@

- 46,

populatlon and emp]oyment

agnculture and rel1g10n
(ot s

i . 151+

"((4) : rehgionand statistics.

(5) ;-Nc‘.t-attempted- :

- 47, Bes1des the World’s oldest (:1V1hzatlons, Indla is |

also the world’s Jargest country.

(1) third : ' '

(2) fifth

8) tenth, | | N
@ seventh 52.
L5 ,Not,attempted

- 48, .

_ Fmd out a word from the above passage Wthh

means ‘a country’s history, traditions and culture

50. -

BN}

N

49. Choose the word which is. opposite ; in

the word underlined. S

“Earthquakes are frequent in Japap, »

(1) e:_ctinct_
(2) unusual
(3) few
(@ rare
"(5) Not attempted

Choose the word which is opposﬂ:e in mg,

the word underlmed

. “She’is slender in ﬁgure.”

[ strong_ '
(@) frail
koo
(4) slim

(5) Not attempted

Choose the alternative which best expres
meaning of the underlined idiom.

Her speech is always full of tall stories.
(1)
(2)

long tales.

_heroic stories

 (3) exaggerated tales
(4) realistic stories
. Not attempted

In the following _question,. out of th
-+ alternatives,

substituted for the given sentence.

choose the one which ¢

“An apartment building in which each ap¥

is owned separately by the people living io!
etc’. "~ also containing shared areas:”
(1) 1dent1ty | . : @ Condominium
(@) Hetitage 4 i R ko “(2) Multiplex
. (3) pnstlxre ~ (3) ‘Duplex .
' (4) attractiong (4) Caravan '
. (5) Not attempteq " (6) Not attempted
. RAMA/A1/Page 14, i
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5’

pick out the éorrectly spelt word.

§) Qutregeous

(2) OtitragBO“ff

3) Qutragous

@) Outrajious

(5) Not attempted

Choose the correct passive voice form of the

517.
" following sentence.

Pick out the correct indirect speech form of the

“I have bought a house,” he said.
1)y
(2)
(3)

He said that he had bought a house.
He said that he has bought a house.
He said that he boﬁght, a house.

B4. i . (4) He said that he would buy a house.
following sentence..
heetal will have finished the work, e
(1) The work is finished by Sheetal.
" (9) The work will be finished by Sheetal. 58. Choose the most appropriate. prep031t1on to fill in
(3 The work: will have been ﬁmshed by| = the blank.
“Sheetal. She succeeded dint of perseverance and
(4) sheetal will ﬁmsh the work in due time. " hard work.
ittempted : -
(5) Notaitemp (1) for
55. Rearrange the following parts of a sentence (2) from
labelled - as PQRS to make ‘a meanmgful (3 by
sentence. : ' -
4) ¢
P. deeds is to be ( ) E P
Q. onto the future (6) Ios attemptefl
R.  the power of noble Ry h _
- 8. preserved andfpas'sgd |59. The old man is looking forward ____ the
(1) RSQP : - visits of his grandchildren.
2 SQPR s (1) for
(3) PQSR | @) i
(6) Not attempted LB
. L " R 2 (4) with
56._ Pick out the part of the sentence which has an (5) " Not attempted
error. If there is no error, your answer is (42. , =
.' The simplest method
- '"“"'—'———-—A | . 60. F111 in the blank with the appropriate option
of welding two pieces of metal together : i M .
oy . : - ‘The Battle clf Waterloo was won of
: Eton.
is known as pressure welding:
"ql-_'"".‘T‘__C 1 with the play ﬁeld
Ayl e ~(2) on the playing fialds
(@) B ", (8) for play fielded
Ei; C | (4) in the played
- No error (6) Not attempted
Not attempted
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: g e 7 1 3 e A
| A e S
. [3)  . £ | @ Wﬁqiqa
@ W - (4) Fa2N AW
6 mAm T | | (5) I T & e

65.

62 ‘are-ﬁmmwm‘lﬂqfaﬁﬁﬁ%rmf%: | 66. ‘W}WﬁFWQé’W'}h%ﬁﬁawh
(1) gd e g o |
QuEmEEET ¥ o (1) 3
@ wwmiedan e ' (2) R
) wmmwmﬁqﬁw 5 | eleLEr €
(8) :mﬂﬁfa:nam% . TR P _;35@,_ 7
- RN : | oA TR

v'ss..%#mmw%ﬁmwéaﬂtﬁmm
| I & ERNP e L
Ne) ke
T
- TR A @ i
o sd@m R ] e wEw

67. 2 ez 5 g 2 T e 1 30

6. B ok ki R 68, ﬁw%ﬁaawﬁﬁmmamwﬁml
e, 0 | @ ww
@ Wb . (@) Wi o
; . ; : : Al
@ wemfE | (3) R Ké‘\ ‘
@ 7 ol 5 4) SITHTUW : D\\v“o
(5) I T o e wm s i
— page 16 ¥ “ﬁ’\’?’/
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o4 ﬁqﬂ‘l_'ﬁqﬂﬁﬁ Sl mmmﬁ"%mw 73. o Wi 33!31"l.’13‘f%:
HERE L e w -
_ | (1) HE
AL s e
@ ™. . ., ?,.%‘ (@) S
CoRL T RS SR (8) AW
B 3?“-”5&““%' % ,
e o (5) I T & e
0, e ﬁgnﬁﬂ%aéﬁ‘gagai . |
— R g ﬁﬂlﬂﬁr%maﬁww :
m%? 74. ﬁqmﬁamﬁmﬁawmﬁmmm
. (1) R{ﬁiﬂiw Ea:n%? :
) o 34'3'5“9 ) ﬁ%m@aﬁq‘{ftﬂm%l 3
) aﬂmr:ﬂam _ i 20N -
@ e 2).@3_‘5’2(}333?13%5?5%}
(5) I & R - (@ e e 2 A e T A e |
- . gl Dot i PR @ AR A A FE
71, fam fodl A1 R & waifes gg T 2 " s
i ke T b (5) I E 0 A=
(1) =, ot W aaqtzﬁmmtatml e
(@) %lagiﬁ "3HT TR 1. | ' .
3) as%aﬁaasﬁaﬂtaﬁqmmamﬁ%t _ ,
i mmwﬁqmmémﬂﬁql |75, FEF agamﬁ%’#m%ﬁ?ﬁw%%n
5 (5) aﬁtqﬁémm% ' ' \' "-‘vm meﬁwmﬁﬁﬁnwﬁﬁql
T gl RGN
72 Wfﬂé'ﬁ I G R Lt L
, Hﬂ?ﬁ‘mﬂ’% |
@ %_ S p Ry @) WmA/
W@ st % @) IW
GO (5) e T 3 =R
- (B) I '
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Which language was accorded the stat,
]

-76. 2010 ﬁﬁmwaﬁgﬁmvnaﬁggﬁmmmaﬂzﬁf 76.
feam 2. second official language‘in Haryana in 201
1) st (1) English |
@ 39 - (2) Urdu
©@® T (3) Punjabi
(4) REwEl (4) Haryanvi
(5) I i Gl =Tad (5) Not attempted
717. ﬁ'l:ﬂ'ﬁr‘[‘f'\@?f 3 o ghermon * R fe A @a gﬁ @—ﬁ 717. Which among the following personalitie
F 2022 w1 ‘T@ A WWE FEGH foarr T ? Haryana réceived the Padma Shri award
(1) @ fiE : . in the field of sports ?
(2) gfua sifae (1 | Sandeep Singh
(3w g @ Sumit Antil
‘@ g feE (3 Bajrang Punia
' ' (4) Yuvraj Singh
J s Rl Tﬂgﬁ (5) Not attempted
A, ar T T el (ﬁ'éﬁ) > W foper ‘;8. In which year was SAI National Boxing Ac
ek _ - - ~ (Rohtak) inaugurated ?
_ 1) 2019 _ 1) 2019 .
(@ 208 & o
: {2;' 23;: . (3) 2016
: @) 2017
i :Tﬁ a’ﬂ Eﬂ?a (5) . Not‘attémpted
e ?:;2 :ﬂtﬂ gﬁﬂ‘r 3Tf?-l’€1’ Eﬁmﬂn a; %H ma @ Eﬁﬂ 76. Sportsperson Seema Pum’a" Antil hails
@ m N which village in Haryana ?
@) @ @h) .Ujhana
@ Fe 5 (2) Khlandra
& wEE (3) Khewda
' (5) m"‘ﬁ%ﬂ | ) Kaluwas.
T-ng?l (5) Not attempted
= ;g;)ﬂﬁgz?;? i %H gt ﬁrq A & g |80.  Which Haryanvi film released in 2015 ¢
1 d W i two National Awards ?
2 Ry (1) Beera Shera ,
@ wE o : (2) Chand Chakori.
() it T 3 ‘_-Pag.di |
(5) IM :{é’fa:n% : _ Crdhy (4) Veer Ghatotkach
RAMA/A1/Page 18 B LR (5) Not attempted
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- ol

Y o

3%

(1)

@)

Wrﬂ%mﬁammmw%o

(2

@ | \(
(4)'5531'(, e
(5) T T LA
Wmﬁﬂmiﬁmﬁﬂﬁr{qﬁ?ﬁaﬁmﬁ
37 o |
(1)-‘lifvﬁ1'lﬁ )

(@ WEIE

(3 WA TA

(4) TS |

(5) I T &

S TRl ® R i

@ =, ghemn § fififa wie w1 T w

(b) w%wwaﬁw&mﬁaﬁwm -

21
mﬁmﬁﬁﬁqm/ﬁmﬂ‘é’r%/%?
Fad (a) -

Fad (b)
(2) T (b) BFT
(a)@(h)ﬁﬁahiﬂﬁf

1770 £ & Tofie-gdren 9 %-m_'m

@)
@).

®)

35,
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@)

(5)

CY)

(1)

HEHG T8 ST
@) Al

St @A
EE
wEreST fafemn
S T <A AR

(4)

'Mﬁgﬁgmgﬁaﬁﬁmﬁmw

81.

82.

83.

85.

(D

(m

©(6)

@)
(5)

-((3)

Where is the Chhaj ornament worn by women ?
Forehead

Neck

Hand

Waist

Not attempted

(2)
(3
4)
(5)

Which dance form of Haryana is dedicated to

Shiva and Parvati ?
Manjira Dance
(2) Lasya Dance
(3)

(4)

Ratwai Dance
Gangor Dance
Not attempted

C'onsidef the following statements :
(a) Chope is a style of shawl manufactured in
Haryana.

(b) This'shawl style is also known as Phulkari.
Which of the statements given above is/are
correct ? '

(1) Only (a)

(2)  Only (b)

(3) . Both (a) and (b)

Neither (a) or (b)

Not attempted

After the death of Najib-ad-Dawlah in 1770 AD,
who ascended his throne ?

(1) Ahmad Shah Abdali
(2) Jabit Khan

Najaf Khan ,
Mahadji Scindia
Not atteulpted

4)
(5)

When was the famous Badkhal lake of Haryana

ar? developed ?
1) a§ 1940 i (1) In 1940
(2) T4 1947 3 (2) * In 1947
(3) a¥ 19507 (3) In 1950
T4 1974 % (4) In1974
(5) I a:n e (5) Not attempted
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e UL L TRy Y GIHIVIL S INICHE TR AT e - .
Hiad 113 fou Tu 3% adAE W . Haryana given in Column I with the; o
™ it & gafer AR : I el
_ , names in Column II : ! i Y,
FITHI - Hicid 11 . _
I ' Yo Z | Column I - Column
1 N 2 éxlilw“”- | L Sairishaka a. Sirsa
- b . ' -, II.° Kanoud g b. Kaithal
. q’lﬁFQE[- . (¥ T “ I
TR III. Kapisthal c Panipat
IV. dWigwey TG | . :
‘ : d . _ IV. Panduprastha d. Mahe‘n(_lragarh
@) I-a; II-d; IIb; IV—<c D coEEE s
(3 I-d; T-a; TI-b; IV ' " (@) I-d; TI-a; II-b; IV—c
. (4) I-c; II+b; Ill-a; IV-d | @ Ig II-b; MI-a; TV-d -
(5) S qg’f el T—-IT'@'?T . VTR : (5) Not attempted
~ |87, is Bab Tirth Sthal si
g7. sl weMT e T el ﬁﬁﬁ‘% Rt S R S it Whére - Ba. Sk Sl
s : WiE: (1) ~ Rewan
(2.) Gﬁa ) o sepall 5ig : (2) Jind
; e T e (3 Ambala
ok n h g (&) 'Kaithal
N A R  (5). Not attempted
. (5) a?rﬂ‘éf%mamﬁ ¢

88. Which of the following committees Is |

" appointed by the Panchayat Samiti accordx
Chapter X of the Haryana Panchayati Raj.
1994 ? |

88. gftmunwma‘?maﬁ‘aﬂm 1994%31%211'&};%
/aﬁmﬁnﬁrf@ﬂﬁﬁaﬁqvﬁaﬁﬁrwmqﬁﬁgm___

fge 7gf F w2 Als
) mﬁﬁm@rﬁrﬁ AN T s (1)  Social Justice Committee
@ T aﬁrﬁr AR AN\ v (2) ‘General Committee
(3) e @ H Hﬁl‘ﬁf 9. : '~ (8) Health and Welfare Committee
i ‘| (4 Finance, Audit and Planﬁihg Committe!
@ fw, draraian (s amq&@m TGy A :
( 7 (5) - Not attempted
® S wt  wred L
8. E?Gnun ﬁ ' : -39: When was the first pwe
| Tﬁtwﬁfﬁﬁ?ﬁmﬁwmgﬁ? ~ inHaryana?

--(1) 17 Sef . y :

@ " 1% 1955 _ ], . (O 17* January, 1955
® oMy gy | ¥ ] _ 2 10t May, 2005

. | . : (3) 7" August, 1998
6) I 5 (4) 1%t November, 1966

RAMA/A1/page 20 \"*"\__ : . (5)  Not attempted '_/
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. 9L

92.

93.

e 35 T RISt 3 s a2 3
@ '

(g) AT

(3 T

w ferl

(5) IR TE & =Ed

e 1 71, 7 0% e oo 2
(o feEm

()

(3) GG
(4) A
(5) IR TG & AR

.’gﬂﬂﬂﬂﬂ'ﬁﬁ?ﬁiﬂ% :

(1) WEEHE TR

(2 oTears sNdwi TR

3) I W%k TR YR

‘4) IS I9WfIE TR

(5) mqﬁimm%

qeehr oz s 2 2

(1) T 2,00,00,000:

). ¥ 1,00,00,000 -
(3) - 4,00,00,000

(4) 6,00,00,000
(5) I A <A1 =TRd

90.

|91,

92.

93.

Which district of Haryana receives the h1ghest
rainfall ?

(1) Hisar

(2) Ambala

(8) Kurukshetra

(4) Bhiwani

(5) Not attempted

- Where is the Blue Bird lake ]ocated in Haryana ? '

(1) Hisar
(2) Jind’
(3)- Faridabad .

.. (4) -Karnal

(5) Not attempted

The climate of Haryana is .
(1) Continental type
(2) Sub—Humid_Tt_émperate type

~(3) . Sub-Tropical Dry Continental type

(4) * Sub-Humid Sub-Tropical type
; (5) -~ Not attempted
What is the One Time Cash Award for Mahavir

e N R
(1) T 2,00,00,000

@@ = 1300?0}01000 :

(3) ¥ 4,00,00,000
(4) % 6,00,00,000

. _ ~ (8) Not attempted
94,  gfamm =1 T usht w1 :3 ? 94. What is the State Bird of Haryana ?
(1) Eﬁ‘ﬁ?ﬂ (1) House Sparrow ' v
2) W s _ (2) GreatEgret
(3) it waft (gfi =) " (3) .- Humming Bird -
(4) e i - - (4)  Black Francolin
(5) " SR TS 2 9 ‘ (5) Not attempted
95, fa,-g W& ﬁ g 1 foet’ a1 Tl 22 95. Whlch city is- known as the Hearl; of Haryana’ ?
1 S T : (1) Ambala
@ i f (2y Jind
®) Teria () (3) Gurgaon (Gurugram)
I — 5 (4)  Panchkula
I T A "y . (6)  Not attempted
RAMAA1/Page 21 < = 2 ToTT TTT | SPACE FOR ROUGH WORK




96.

98.

R T o % frdia-ad 2022 - 28 # T T
Wﬁﬁ?nﬁsmﬁm%%ﬁm%gﬁﬁﬁﬁw

96.

‘What is the percentage of the total exp,
allocated towards Education in Haryasnd
Budget for the financial year 2022 - 23 » Staie

_ TR ?
(1 182% ((;; igjj
(2) 16-4% LT
B 4 (3) 142%
(4) 152%
<[5} PR (5) Not attempted
: (5) e A &A@ .
| 3 - 97. What is the total number of electricity cong |
7. e gy # et e 2021~ 227 in Haryana till 2021 - 227 e
fopert 8 7 _ | (1) 68,557,609
(1) 68,57,609 (2) 71,17,384
(2) 71,17,384 (3). 172,17,283
(3) 172,17,283 (4) 173,07,992-
4) 73, 07,992 (56) Not attempted
(6) S® _ <A arg?r - |198. How many. District Lével Treasunes are therei;
sfef wdem, 2021 ~ 22 a; aEIHR aﬂm"n - gj:::;az 02‘;‘3‘"’;1;”5 to the Haryana Econoni
W%ﬁwaﬁwm”nr%? ' EREIR,
) 25 ' @) 22
@) 22 ... _
3) 23 5 @ 24
(4) 24 _'(5) Not attempted
Ry 7|'6°f a:n arga 99. How many v1llages have been assoc1ated with
%. “ﬁﬂ'l T, ST Tta’ T 3T-‘ci1f?r Gﬁ‘cl“ﬁ 2022 qh | ‘Mhara Gaon, Jagmag, Gaon’ Scheme till Januar
forert ridl a‘m a1 8 ? _ 20227
(1) 3216 (1) 3,216
@ 5569 @ 5569
@) 4806 3) 4,806
" (4) . 3,560 (4) 3,560
®) I (5) Not attempted
100. Zfeaon & W 100. Natl;l‘onal Beekeeping and Honey Missit
A ;r?a:a%a aﬁg? g forerd (NBHM) 2 (NBHM) Scheme was started in which year ”
1) 2029 ' Haryana ? - _
@ 2018 (1) 2020
® 2019 (2) 2018
" an 3) 2019
R A E 4) 2017 -
RAMA!Aﬁpagezz\ (5) Not attempted //

% g 4 -
4 % fo70 Tum / SPACE FOR ROUGH WORK





